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A_ B C B In a 1500 m race A wins over B by 350

W5 M‘* M m and in 1500 m race C can give a
J%# startup of 250 m to B. by how much
(30 1% (6 $2(L distance A give start up to C so that A

87‘ —‘—?Beatsty eters.
H, B C 1500 f} @) i & A, B$I 350 f} & &¥ran
lS 1 & dAT 1500 #Y U Sis ¥ C, B &l 250 #l
b 11 \'3?3 1 YHATd qdl & A, C I 1500 #H. 3 Tl

L # o g < difé A, C &1 50 #iex 9
& Gb? ﬁ@
\Som 4 13% (a) 10 (b) 80 m
\ (d) 90
N SN 2N
e 10 S




;@%TA
- 7_-9 Bl2

&
(——-——9
ﬂ (3 Q
\bx A2 A\
S '1.-\9_ A-\%

% 8 C
‘)o-?-y& D M AR
A AR

N A

2T -}

Three runner A, B and C run a race
where runner A finishes 12 meter ahead
of B and 18 m ahead of C. While runner
B finishes 8 meters ahead of runner C.
Each runner travels the entire distance
at a constant speed. The length of the
race is.

A, B 3k ¢ 49 gras fodl gls & fewm
dd 2, A Tded I W® B A 12 Hiew
glar & 3k ¢ 9 18 Hiex 3t wi«dfe B,C 4
8 Wiex Il &lar & dFl grddl &1 R IR

# 9Tl GHIF Yed! & dl ols, fea-d o=t 87
(a) 36 m um?sm
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Three runner A, B and C run a race
where runner A finishes 12 meter ahead
of B and 18 m ahead of C. While runner
B finishes 8 meters ahead of runner C.
Each runner travels the entire distance
at a constant speed. The length of the

C A race is.

A, B 3k ¢ d9 aae fedl sts # fawm

e, A Tded 9 W B 9 12 ey a3
Qmﬂhﬁﬁeﬁmamc@ 18 #lex At waf®d B,C @

X L Hlex ot gt @ Y gEel @ R IR
8"] %m\l\ms R

" 9T U9 Y8dl & ol sls fha-dl o=l 287
(a) 36 m \_(b)48m
(c) 60 m (d) 72 m
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In a race of ‘d’ distance. A beat B by 20
m. B beat C by 10 m of and A beat C by
28 m. then ‘d’is =7

Udh ‘d’ Hicx @) SIS 4 A,B &I 20 HI. 9 &
Qdr 8 a7 B, C & 10 #Hiex ¥ & <ar @
dT A,C & 28 #Hlex ¥ & qal & ol ‘d’ B

oft. 42
ﬁ b) (So
(€) 300 (d) Soo
%L: X HA-Nd= ~300 420



325¢~ In a 100 m race. A runs at a speed of 5
SOSU. km/hr. he gives a start of 8 m to B and

Stlll defeats him by 8 seg¢. find speed of

\aq.:'6 IOOTﬁQﬂﬁAﬁWSﬁT’-ﬁ/Wﬁﬂﬁ
!Egaﬁaﬁaﬁgﬁmémﬂﬁaﬁaﬁm
B edl & dl B @I AT SiTd HR 2

22

m / sec
20 d

(a) 1 m/sec

gé"’)l (c) —m/sec (d) gm/sec
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A can finish a race in 3 min 10 sec while

\"Pg'c' B in 3 min 20 sec. By what distance A
200X Cwill defeat B in a race of 1000 m.
\X A 3R B fodl gis &t 3 fiAe 10 4. 3iv 3

A 1. 20 9. ¥ 9H &d @ d 1000 H <ls
AB"F}'M# ¥ A3 B# frat Mex @ wwmm)

K W/E Vurﬁso:n (b) 100 m

(c) 150 m (d) 115 m ‘Mm
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In a kilometer race, A beats B by 30
seconds and B beats C by 15 seconds. If

A beats C by eters the time taken
0y Atorun 1 bmeter is

1 fod) @ <ls 9 A, B &l 30 9ove § a1
B,C & 15 d®vs 9§ &vdl & dfe A,C &l
180 HleXx 9 &var © df A &1 1 f&f gleq

¥ feaar a9y 9|
(a) 250 ,)k(-zos
(€) Q00 (d) 10
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In a race, Ruchi is ahead of Preeti by

350 m. If ratio of Preeti and Ruchi’s
L speed is 20:13. At what distance
S%ning point should be located so that

P3" R Preeti and Ruchi will reach there at the

P R same time.

$Qo 13 th qle ¥ Nifa wfa & 350 N ) qrsa
adl 2 gfe dfifa qor wfa ) 9t 1 3qurd
D@?P 20:13 &, @ S &1 o fhad g W

Rera & fo Nifa aar w1 999 999 W S9
\:l'—)ggo g a
R6- |oyD uaﬁfo (b) 1200

@ (€) YSw (d) Nownl



In a race of one km. A gives B a start of
100 m. and still wins by 20 secondé] But
if A gives B a start of 25 seconds, B wins
by 50 meters. The time taken by A to
run one km.

1 foft &) gis & A, B & 100 #Hiex &I
drsd adl & a7 e i 20 dwves 4 ofia
oIrdT 2 Ife A, B &1 25 ddvs &1 YwHITd <
dl B 50 flex A ofig wirar 2 A g1 1 feih
&1 g9 feadl ¥ § ag s

(a) |+ ulr)’g““/ac\
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A gives a start of 5 sec to B in 1000 m
race. But both finish the race at same

time. Find the time taken by A to finish
the race. If speed of B is S m per sec?

1000 HicX ¥ Udh <l # A, B &l 5 Advs
P! JYWATT adl & W Gl (d & 99 W
Sl Waq &vd & A &l cle GcH dYd A
foaem W o afe B &1 wfa 5

=1
i / dpve @ ?
A;v)’lgs sec (b) 200 sec

(c) 185 sec (d) 205 sec
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In a kilometer race, A, B and C are the

A A C_ three participations. A can give B a start

‘WO c.l 0 G‘S] of 50 m and C a start of 69 m. The start
L B can allow to C is.

1 1000 #i. @) <t # A, B &l 50 #I. @2 C

| Q%So—a\m\maﬁ 69 Hlex @1 &I <ar 2, a I <ls
"N g —>Q 4 B, CP ol Y& T FaHam &7
(a) \F (b) (€

(¢) 19 \yddo



PI B C In a one km race A gives B start of 100
m and in one km race B gives a start of

Jowo Io- 80 m to C. In a race of 1 km race. Who
’LK/# %}‘ will win and by how much distance from
S 2% the worst performer between two losers.

U fHdft & 39 9 A, B &I 100 #Y @& qred
QEU Ry .20'1— adl & 3X 1 fodft &t 39 ° B ,C &1 80 #H
@] dred <dl © dl dasd 1 fedl &f 39 7

aSo—v\M w17 W atv a8 Ged @wd uHT we
3"’”’3“« aral 9 faa @ amt gi?
AL =, A X.(b) (42,8

@dﬁ) 12,A XA 1R,



A, B, C run on a circular track of length
of 12 km with speeds of 6 km/hr, 8
km/hr and 9 km/hr respectively. A and
B run in the same direction but C runs
in the opposites directions. If they all
start at the same time and from same
pluce. How many times will A and C
meet on the track by the time A and B
meet for the first time.
g, , B, C & 12 f&fl ad garmer g w
‘S%W 6 fedi/=er, 8 fefi/ger sk 9

/Her & Tfd | Slsd 21 A 3R B U

HQ\ 2 foor § wefe ¢ fagda foor & <tear &1
"'f" 9 9l Ud 91y U 2 g 4 g% $xd 2 |
91 A 31X B &l Ugdll R | Usd A 3R C

.;BE. :1-‘-Wmﬁﬁﬁl

M (@) 5 @ (b) 6
sy (d) 8






A ansttart together from same point

A—->224 s¢s . .
on circular track. They are moving at
364Y3%¢C. uniform speed until they reach at
starting point together. A and B take 3
X2 min 44 sec and 6 min 4 sec to complete
a round respectively. Find how many

times A goes for round.
A dA1 B U6 gaor 99 R fedl fag 4

_ P" ATl ¥ 99 TP doid Yed © od dd
LeM @ T I fawg wR U@ e T fra 9 |

_ gfe A 99T B $99: 3 f9c 44 AdHve duT 6




Two persons move at speed of 15 m/sec

"\2_"‘- and 25 m/sec in a circular track whose

j.y s circumference is 1200 m. If they start

- running together from same point in

R@ same direction. Find time taken by

e ,ZO'IC. them to meet for first time and after

w et how much time they will meet at
starting point?

M{-|m_ L¢ ql @afdd A 91 B U g<iTodR 9 & B8R A

T.Y‘—" % Tl gRfer 1200 #Hex B HAIE 15

20 5Y3 RC Mex /Advs den 25 Hex/AFvs ) ard

RS 4 gdpY dMd & Al 94 SIFT Uh 1A U

_NAT120 sec, 240 sec @ i & o & Ren § ST W R

(b) 120 sec, 220 sec 3 o} g HIRT T T Ugehl IR Ha AT
(c) 128 sec, 230 sec goy g ) sra dIRT 5 § yrfws wm=
(d) NOT R fhad w9g are AAa?



Three persons start moving on a circular
track of 20 km long from same point in
same direction with a speed of 5 km/hr,
4 km/hr and 3 km/hr. find the when
they meet first time and how many
times they meet in 10 days.

= cafed 20 &l 98 & gadR T W

kﬁszlD-:'z"t" HHY: 5, 4 a1 3 fedl /=gver & 9rd 4 s
bic.__ WA gl e o e & A 9 s % ad o
- ard dIfe & 3 gl IR &9 el qen

"((n’\—)_ﬁ_ TH hing 10, Rt & Rt are frafat?
Ly

20 hr, 12 times (b) 20 hr, 20 times

\0 —\ c)@ hr, 12 times (d) NOT
mﬂ\’% tuvely




A , B and C run in circular track whose

: =63
\gyml""ﬂ J;ﬂ Rz UL G 9 radius is 63 m. B and C run in opposite
-2.{ - ‘ﬁé dlrectlon from A. If their speeds are 30,
W)

ha 3“[4. \“l e~ ] D3p — 2127725 and 14 m/min respectively. Find out
when they come together next time and

when they meet at starting point again.

{“3-':&3 A,Bda CU& JqadR U W dlsd =
gt ‘(wmﬂﬁﬁﬁmssmﬂéBawc,Aa%

faufla feom o Sled @ Ife S9@1 ard HH9:

Jcm— 36w 620, 25 alv 14 dex/fe @, @ W
{:-3'3:‘5-;5_— ool fb 4 Ugell IR ®d THA BT AT
Mf; =35 URM® T TR H9 ThA 8177

S ) 36 min, 396 min (b) 45 min, 396 min

=3
% F%n (c) 36 min, 390 min (d) NOT




A and B covers 1 km in 4 min 54 sec
and in 5 min respectively. How much
start A gives to B so that they would
A~ QUKE  reach at end point of 1000 km race at

L 2000 C same time.
- 6se ™= A dal B 1 f&fl & & &t 9 4 fimie

54 9&vs dAT 5 e & ¥ &xad 2,
3793 lovam oTd & @1 1000 fdl @ e § A, B @)
6Scc—?Q0Mﬁﬁ1:ﬁ@$rvgﬁméﬁiaﬁ1ww

({220 km (ﬁ) 16 km

(c) 18 km (d) 14.5 km
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A circular running path is 1225 m in
circumference. Two men start from the
same point and walk in opposite
direction at the rate of 14.75 km/hr and
11.5 km/hr respectively when will they
meet for the first time?

Uh gareR 9 B aRfy 1225 Hiex @) @
al o s B fag 9 gdr g% dxd @
aerr Hee: 14.75 fedi/ger R 11.5
feft /eer @ ara 4@ faudia feemed 4
cgdd & 4 Ugcl R &9 A ? @

(a) After 3.2 min Jmffter 2.8
(c) After 3.5 min (d) After 2.88 min



A and B run a 7.5 km race on a round

course of 270 m. If their speeds are in
the ratio 5:3, the number of times, the

winner passes the other is

A @1 B 7.5 f&d &) & gl 270 Hiex @
Udh qdR JSH | Sledl g6 &vd 2 afQ
S9®) ard &1 AU 5:3 ®, dl fasiar e
ard, 3 frah R W wm? Jq A it

A 11 (b) 13
(c) 9 (d) 15 % ot

:: i H 3ag
/ "Qj) Q\:Q{?;’\m Vbund 7 gy
aq | 4R YR ey
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Gaurav and Azad run a race with their
speed in the ratio of 7:4. They prefer to
run a circular track of circumference of
4.5 km. What is the distance covered by
._) Gaurav when he passes Azad 12th time.

Y7 IoYskuiiva @ are we v A ded @ el
| — Sk ST e BT U 7:4 2| IR 4 TGN
3 7y WX gled @ foaal aRkfer 4.5 fed @ w9
10-Skw A |1, k@, amome @t 124 AR UR @war R @
CALY) fpafl <8 a7 & gaT1 ?
(0-&' %12 U,aafzgs (b) 108
=12y (d) 147

R)

(c) 133




